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Let fn(z) = zn + q(z),
n = 4

K(q) K(f4)
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Let fn(z) = zn + q(z),
n = 8

K(q) K(f8)
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Let fn(z) = zn + q(z),
n = 16

K(q) K(f16)

P1
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Let fn(z) = zn + q(z),
n = 32

K(q) K(f32)

P1
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Let fn(z) = zn + q(z),
n = 64

K(q) K(f64)

P1
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Let fn(z) = zn + q(z),
n = 80

K(q) K(f80)

P1
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Let fn(z) = zn + q(z),
n = 180

K(q) K(f180)

P1
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Let fn(z) = zn + q(z),
n = 360

K(q) K(f360)

P1
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Let fn(z) = zn + q(z),
n = 720

K(q) K(f720)

P1
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Let fn(z) = zn + q(z),
n = 1, 800

K(q) K(f1800)

P1
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Let fn(z) = zn + q(z),

K(q) lim
n→∞

K(fn)

P1



Fa : P2 → P2 by Fa[x : y : z ] = [−y2 : ax2 − axz : z2 − x2].

Indeterminacy: p = [1 : 0 : 1]. Critical set: {x = z} and {y = 0}

{x = z} \ {p} // [1 : 0 : 0] // [0 : −a : 1] // [−a : 0 : 1] // · · ·

{y = 0} // {x = 0}
RR

P2



Fa : P2 → P2 by Fa[x : y : z ] = [−y2 : ax2 − axz : z2 − x2].

Indeterminacy: p = [1 : 0 : 1]. Critical set: {x = z} and {y = 0}

When a = 1,
{x = z} \ {p} // q1

[1 : 0 : 0]
// q2
[0 : −1 : 1]

// q3
[−1 : 0 : 1]

// q4
[0 : 1 : 0]

jj

{y = 0} // {x = 0}
RR

q5

{y = 0}

{x = 0}

{x = z}
p

q1

q2

q3

q4

l

p{x = z}

{y = 0}

q1

q3
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